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K 1 D29 2500 16 5.04 12.60 202 I W 55 D16 3900 2 1.56 6.08 12 |~
K 2 D29 1900 32 5.04 9.58 07 |/ W 1o D13 750 18 0.995 0.75 1 |
K 3 D19 1800 16 2.25 4.05 65 | 348
574
E 1 D16 550 36 1.56 0.86 cy i
T 1 D16 2340 33 1.56 3.65 120 31
T 2 D16 7900 2 1.56 12.32 25 |~
T 3 D16 7900 2 1.56 12.32 25 |~
T 4 D13 2000 4 0.995 1.99 8
178 SD345
(kg)
U1 D16 2700 23 1.56 4.21 o7 |~ D10
U2 D16 2270 6 1.56 3.54 21 K D13 946 0 0 0
U 3 D16 7300 4 1.56 11.39 46 | D16 2142 0 0 0
U D22 500 14 3.04 1.52 21 I b6 D19 1390 0 0 0
185 D22 21 0 0 0
D25 D25 602 0 0 0
A1 D16 4500 33 1.56 7.02 232 I. 4155 0 0 0
A2 D16 4500 33 1.56 7.02 232 J h2s D29 1970 0 0 0
A 3 D13 8340 13 0.995 8.30 108 | D32
A4 D13 8340 13 0.995 8.30 108 | b3z 1970 0 0 0
A s D16 9500 9 1.56 14.82 133 |7 D35
A s D16 3500 36 1.56 5.46 197 |7 D38
A7 D16 1860 68 1.56 2.90 197 | D41
A s D16 4500 14 1.56 7.02 98 J D51
A 9 D13 2420 13 0.995 2.41 31 [ 7071 0 0 0
A 10 D13 2420 11 0.995 2.41 27 [
A 1 D13 1740 90 0.995 1.73 156 |-
1519
H 1 D16 2200 24 1.56 3.43 g2 |
H 2 D16 2200 24 1.56 3.43 g2 |
H 3 D16 2670 6 1.56 4.17 25 |.7
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